
l.a) Draw a hyperbola having its two asymptotes inclined at 100 to each other and

passing through a point P at a distance of 30 mm from one asymptote and 36 mnl

from the other. Draw a normal and a tangent at any convenient point'
I

.;b)., consrruct.a,yTnier scale,.to;s"how yards, !3giq:F being 
lrd=,show 

the dista.nce
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[7+8]representing 2 furlongs 99 Yards.
OR

Z.a) Draw a hypocycloid if the diameter of the rolling circle is 36 mm and the

diameter of the base circle is 108 mrn. Draw a tangent and normal at ally point on

the curve.', i'"', : '"r r" , ... , ;.."r 1"",: ^ ' ..".

A cir:cle'lofi50 mm dianieier'irolls on a troiilontal line fcir''a'half revolutiorrldnd

then on a vertical line fbr another lralf revoiution. Draw the curve traced out by a

point P on the circumference of the circle. [7+8]

A poilt A is 30 mm below H.P. and in the third quadrant. Its shortest distance

from the.itfeiience line XY.,iS.40. Draw thefii.qiections of ''the;point and detiiiririne

6)

its distaric6 fi:om V.P.
b) A line AB of 80 mm long has its end A at 20 mm above H.P. and 15 mrr in front

of V.p. Its t-ront view and top view measure 60 mm and 70 mm respectively.

Draw the projections of the line and determine its inclinations with H.P. and V.P.

t7+ql
. .., i"i, ',,.. :.1- \rI\ : : ; ._ i,-.: ; r,- :..,i :.-,

PQRS is l ihombus having Oihgonat PR;'60 inm and QS"='40 mm and th6y are

peipendicular to each other. The plane of the rhombus is inclined with H'P' Such

that its top view appears to be square. The top view of PR makes 300 witl-r the

V.P. Draw its projections and determine inclination of the plane with the H'P
u5<tJ j,

+.

Draw the projections of a cone, base 45 mm diameter and axis 50 mm long' when

it is resting on the ground on a point on its base circle with (a) the axis making an

angle of :60 *itf, tie H.P. and 450 with the Y.P.; (b) the axis making an angle of

306 with the H.P. and its top view making 450 with the V'P' [7+8]

:"':; "r :'-; i"'r :'-'::"": OR 1'- x:.'"i i'": t'"'t :'"":: ''

..6ii"'". A square.pr:ism, base +Oinr'rir',iiAe, axis S0."lritn long, has ild base on the il.B.lend

its taces equally inclined to the V.P. It is cut by a plane, perpendicular to the V'P',

inclined at 600 to the H.P. and passing through a point on the axis, 55 mm above

the H.p. Draw its front view, seitional top view and another top view on an A'I'P'
tlslparallel to the section Plane.



1. Draw the development of the lateral surface of the truncated cone shqwn in

fig*'" ll'"Ail'dimension'! .d?' in mq Scc'tibnal plane is oemendictrlar [o 'YiP
passing thfciugh a point 3'5'mrir rrom ttreif;; e,rd ,iruting tf ungrt *t* 
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Figure: 1

OR

A Cone of 70 mm base diameter and 100 mm height is resting on the ground on

its curvqd..faee with its axis p,arallel to tk,Y-E' It is cut Qy,tl,auxiliary ifttip9

il;i;iir"i;ii;;;;; jod.;i,*, rhe Hp and passing ttiroiigh'a point on the axis

l5 mm f-rom the base. Draw the projections if ihe apex is retained' Project the true

t lsl
shape of the section.

Draw the a) Front view b) Side r,iew from the left ").T:| 
view as :}::,i1"

figure 2.,.g1!.--dimensions ai"g,iw rnm 
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